# ALTERNATIVE PROOFS ON THE 2-ADIC ORDER OF STIRLING NUMBERS OF THE SECOND KIND 

Tamás Lengyel<br>Department of Mathematics, Occidental College, 1600 Campus Road, Los Angeles, USA<br>lengyel@oxy.edu

Received:, Accepted:, Published:


#### Abstract

An interesting 2-adic property of the Stirling numbers of the second kind $S(n, k)$ was conjectured by the author in 1994 and proved by De Wannemacker in 2005: $\nu_{2}\left(S\left(2^{n}, k\right)\right)=d_{2}(k)-1,1 \leq k \leq 2^{n}$. It was later generalized to $\nu_{2}\left(S\left(c 2^{n}, k\right)\right)=$ $d_{2}(k)-1,1 \leq k \leq 2^{n}, c \geq 1$ by the author in 2009. Here we provide full and two partial alternative proofs of the generalized version. The proofs are based on nonstandard recurrence relations for $S(n, k)$ in the second parameter and congruential identities.


Keywords: Stirling numbers of the second kind; congruences and divisibility; Bernoulli numbers

## 1. Introduction

The study of $p$-adic properties of Stirling numbers of the second kind offers many challenging problems. Let $k$ and $n$ be positive integers, and let $d_{2}(k)$ and $\nu_{2}(k)$ denote the number of ones in the binary representation of $k$ and the highest power of two dividing $k$, respectively. Lengyel [5] proved that

$$
\begin{equation*}
\nu_{2}\left(S\left(2^{n}, k\right)\right)=d_{2}(k)-1 \tag{1}
\end{equation*}
$$

for all sufficiently large $n$ (e.g., $k-2 \leq n$ ), and conjectured that $\nu_{2}\left(S\left(2^{n}, k\right)\right)=$ $d_{2}(k)-1$, for all $k: 1 \leq k \leq 2^{n}$ which was proved in

Theorem 1 ([3], Theorem 1). Let $k, n \in \mathbb{N}$ and $1 \leq k \leq 2^{n}$. Then we have

$$
\begin{equation*}
\nu_{2}\left(S\left(2^{n}, k\right)\right)=d_{2}(k)-1 . \tag{2}
\end{equation*}
$$

At the very heart of the proof, there is an appealing recurrence for the Stirling numbers of the second kind involving a double summation

$$
\begin{equation*}
S(n+m, k)=\sum_{i=0}^{k} \sum_{j=i}^{k}\binom{j}{i} \frac{(k-i)!}{(k-j)!} S(n, k-i) S(m, j) . \tag{3}
\end{equation*}
$$

The generalization of Theorem 1 and De Wannemacker's proof can be found in [7].
Theorem 2 ([7]). Let $c, k, n \in \mathbb{N}$ and $1 \leq k \leq 2^{n}$, then

$$
\begin{equation*}
\nu_{2}\left(S\left(c 2^{n}, k\right)\right)=d_{2}(k)-1 . \tag{4}
\end{equation*}
$$

In this paper we use Kummer's theorem on the $p$-adic order of binomial coefficients.

Theorem 3 (Kummer (1852)). The power of a prime $p$ that divides the binomial coefficient $\binom{n}{k}$ is given by the number of carries when we add $k$ and $n-k$ in base p. In another form, $\nu_{p}\left(\binom{n}{k}\right)=\frac{n-d_{p}(n)}{p-1}-\frac{k-d_{p}(k)}{p-1}-\frac{n-k-d_{p}(n-k)}{p-1}=\frac{d_{p}(k)+d_{p}(n-k)-d_{p}(n)}{p-1}$ with $d_{p}(n)$ being the sum of the digits of $n$ in its base $p$ representation. In particular, $\nu_{2}\left(\binom{n}{k}\right)=d_{2}(k)+d_{2}(n-k)-d_{2}(n)$ represents the carry count in the addition of $k$ and $n-k$ in base 2.

We will also need
Theorem 4 ([3), Theorem 3). Let $k, n \in \mathbb{N}$ and $1 \leq k \leq n$. Then

$$
\begin{equation*}
\nu_{2}(S(n, k)) \geq d_{2}(k)-d_{2}(n) \tag{5}
\end{equation*}
$$

This can be proven by an easy induction proof. Note that in general,
Theorem 5 ([6]). For every prime $p \geq 3$ and integer $k: 1 \leq k \leq n-1$,

$$
\nu_{p}(S(n, k)) \geq \frac{d_{p}(k)-d_{p}(n)-(n-k)(p-2)}{p-1}+1 .
$$

The main goal of this paper is to suggest alternative methods for proving 2-adic properties of the Stirling numbers of the second kind. In Section 2 we discuss some partial proofs of Theorem 2 while full proofs of Theorems 1 and 2 are presented in Section 3. It is remarkable that both known proofs of Theorems 1 and 2 are based on recurrence relations on $S(n, k)$ in the second parameter such as (3) and (12) or its generalization 13).

## 2. Preliminaries and partial answers

In this section we provide alternative partial proofs of Theorem 2 for two sets of values of $k$ that are smaller than the full range $\left\{1,2, \ldots, 2^{n}\right\}$. The proofs and how the tools, identity (6) and Theorem 8, are used seem to be new.

The two sets are defined by $k \leq n$ and $d_{2}(k) \leq \nu_{2}(k)$. Their respective cardinalities are $n$ and the $n+1$ st Fibonacci number $F_{n+1}$. In fact, by counting all values $k$ with a fixed number $s=d_{2}(k)$ of ones in their binary representations (so that $s \leq \nu_{2}(k)$ ), we find that there are $\binom{n-s}{s}$ such $k$ s if $s \geq 2$ and $\binom{n}{1}$ powers of two otherwise. We get that

$$
\begin{aligned}
\mid\left\{k \mid 1 \leq k \leq 2^{n}\right. & \text { and } \left.d_{2}(k) \leq \nu_{2}(k)\right\} \mid \\
& =\binom{n}{1}+\binom{n-2}{2}+\binom{n-3}{3}+\binom{n-4}{4}+\cdots=F_{n+1}, \text { if } n \geq 1 .
\end{aligned}
$$

Let $\pi\left(k ; p^{N}\right)$ denote the minimum period of the sequence of Stirling numbers $\{S(n, k)\}_{n \geq k} \bmod p^{N}$. Kwong [4] proved the following
Theorem 6 ([4]). For $k>\max \{4, p\}, \pi\left(k ; p^{N}\right)=(p-1) p^{N+l_{p}(k)-2}$, where $p^{l_{p}(k)-1}<$ $k \leq p^{l_{p}(k)}$, i.e., $l_{p}(k)=\left\lceil\log _{p} k\right\rceil$.

Based on the periodicity property and Euler's theorem we can obtain
Theorem 7 ([5], Theorem 2). Let $c$ and $n$ be non-negative integers, with $c$ odd. If $1 \leq k \leq n+2$ then $\nu_{2}\left(k!S\left(c 2^{n}, k\right)\right)=k-1$, i.e., $\nu_{2}\left(S\left(c 2^{n}, k\right)\right)=d_{2}(k)-1$.

The latter theorem can be proven in a slightly weakened form by replacing $k \leq$ $n+2$ with $k \leq n$ as it is shown in the following

Proof. By the identity (cf. [8, identity (188) on p. 496]),

$$
\begin{equation*}
\sum_{d \mid N} \mu(d) k!S\left(\frac{N}{d}, k\right) \equiv 0 \bmod N \tag{6}
\end{equation*}
$$

with any positive integers $k$ and $N$, and $\mu$ denoting the Moebius $\mu$-function. Indeed, we set $N=2^{n}, n \geq k$, and get that

$$
\begin{equation*}
k!S\left(2^{n}, k\right)-k!S\left(2^{n-1}, k\right) \equiv 0 \bmod 2^{n} \tag{7}
\end{equation*}
$$

As above, by periodicity and Euler's theorem, we know that $\nu_{2}\left(k!S\left(2^{n}, k\right)\right)=k-1$ for any sufficiently large $n$, and thus, by (7), we immediately have that it holds for any $n \geq k$. This argument easily generalizes for $S\left(c 2^{n}, k\right)$ with any $c \geq 1$ odd; although,
there will be $2^{\omega(c)+1}$ terms of the form $\pm k!S\left(c^{\prime} 2^{n}, k\right)$ or $\pm k!S\left(c^{\prime} 2^{n-1}, k\right)$ in (7) where $c^{\prime} \geq 1$ is a divisor of $c$ and $\omega(c)$ denotes the number of different prime factors of $c$. The proof can be completed by an induction on $\omega(c)$.

Another special case can be treated by the following theorem proved by Chan and Manna [2] in a recent paper.

Theorem 8 ([2], Theorem 4.2). Let $a, m$, and $n$ be positive integers with $m \geq 3$ and $n \geq a 2^{m}+1$. Then

$$
\begin{align*}
S\left(n, a 2^{m}\right) & \equiv a 2^{m-1}\binom{\left\lfloor\frac{n-1}{2}\right\rfloor-a 2^{m-2}-1}{\left\lfloor\frac{n-1}{2}\right\rfloor-a 2^{m-1}} \\
& +\frac{1+(-1)^{n}}{2}\binom{\frac{n}{2}-a 2^{m-2}-1}{\frac{n}{2}-a 2^{m-1}} \bmod 2^{m} \tag{8}
\end{align*}
$$

This guarantees that we can determine $\nu_{2}\left(S\left(2^{n}, k\right)\right)$ for any $k$ with at least as many zeros at the end of its binary representation as the number of ones in it.
Theorem 9. Let $k, n \in \mathbb{N}$ and $1 \leq k \leq 2^{n}$ with $\max \left\{3, d_{2}(k)\right\} \leq \nu_{2}(k)$. Then $\nu_{2}\left(S\left(2^{n}, k\right)\right)=d_{2}(k)-1$ 。

Proof. We replace $n$ by $2^{n}$ in Theorem 8 and write $k$ as $k=a 2^{m}$ with some integer $a>0$. We assume that $m \geq 3$ and $m \geq d_{2}(a)$, and $k=a 2^{m} \leq 2^{n}$, i.e., $n \geq n_{0}=$ $\left\lceil\log _{2}\left(a 2^{m}\right)\right\rceil$. Without loss of generality, we can assume that $a$ is odd and $m=\nu_{2}(k)$; otherwise, we rewrite $a 2^{m}$ as $a^{\prime} 2^{m^{\prime}}$ with $a^{\prime}$ odd and $m^{\prime}>m \geq d_{2}(a)$. Both (9) and (10) hold with $a^{\prime}$ and $m^{\prime}$ while $n$ and $n_{0}$ are kept unchanged.

Now we prove that

$$
\begin{equation*}
S\left(2^{n}, a 2^{m}\right) \equiv\binom{2^{n-1}-a 2^{m-2}-1}{2^{n-1}-a 2^{m-1}} \bmod 2^{m} \tag{9}
\end{equation*}
$$

and

$$
\begin{equation*}
\nu_{2}\left(S\left(2^{n}, a 2^{m}\right)\right)=d_{2}(a)-1 \tag{10}
\end{equation*}
$$

by applying Theorem 8 . Note that $\left\lfloor\frac{2^{n}-1}{2}\right\rfloor-a 2^{m-2}-1$ is even while $\left\lfloor\frac{2^{n}-1}{2}\right\rfloor-a 2^{m-1}$ is odd; thus, there is guaranteed at least one carry in the application of Theorem 3 to the binomial coefficient of the first term in (8). This proves (9) which can be further evaluated by the last part of Theorem 3. In fact, we get that

$$
\begin{align*}
& \nu_{2}\left(S\left(2^{n}, a 2^{m}\right)\right)=d_{2}\left(2^{n-1}-a 2^{m-1}\right)+d_{2}\left(a 2^{m-2}-1\right)-d_{2}\left(2^{n-1}-a 2^{m-2}-1\right) \\
& \quad=\left(n-n_{0}+\left(l_{2}(a)-d_{2}(a)-\nu_{2}(a)+1\right)\right)+\left(d_{2}(a)+\nu_{2}(a)-1+m-2\right) \\
& \quad-\left(n-n_{0}-1+(m-2)+1+\left(l_{2}(a)-d_{2}(a)+1\right)\right) \\
& \quad=d_{2}(a)-1<m \tag{11}
\end{align*}
$$

with $l_{2}(a)=\left\lceil\log _{2}(a)\right\rceil$.

Note that the above proof does not require any induction (although the proof of Theorem 8 uses induction). In addition, we can generalize the proof to obtain

Theorem 10. Let $c, k, n \in \mathbb{N}$ and $1 \leq k \leq 2^{n}$ with $\max \left\{3, d_{2}(k)\right\} \leq \nu_{2}(k)$. Then $\nu_{2}\left(S\left(c 2^{n}, k\right)\right)=d_{2}(k)-1$.

Proof. In fact, $k=a 2^{m} \leq 2^{n}$ implies that the nonzero binary digits of $c 2^{n}$ and $a 2^{m}$ avoid each other (perhaps with the exception of the rightmost one in $c 2^{n}$ when $a=1$ and $c$ is odd) and thus, (11) can be easily revised:

$$
\begin{aligned}
& \nu_{2}\left(S\left(c 2^{n}, a 2^{m}\right)\right)=d_{2}\left(c 2^{n-1}-a 2^{m-1}\right)+d_{2}\left(a 2^{m-2}-1\right)-d_{2}\left(c 2^{n-1}-a 2^{m-2}-1\right) \\
& =\left(n-n_{0}+\left(l_{2}(a)-d_{2}(a)-\nu_{2}(a)+1\right)+d_{2}(c)+\nu_{2}(c)-1\right) \\
& +\left(d_{2}(a)+\nu_{2}(a)-1+m-2\right) \\
& -\left(n-n_{0}-1+(m-2)+1+\left(l_{2}(a)-d_{2}(a)+1\right)+d_{2}(c)+\nu_{2}(c)-1\right) \\
& =d_{2}(a)-1<m
\end{aligned}
$$

## 3. Main result: alternative proofs of Theorems 1 and 2

We now turn to another approach due to Agoh and Dilcher [1]. They developed an alternative recurrence relation for $S(n+m, k)$ which relates this quantity to terms involving $S\left(n, k^{\prime}\right) S\left(m, k-k^{\prime}\right)$ by means of a single summation rather than a double summation as in (3).

Theorem 11 ([1]). For $r \geq \max \left\{k_{1}, k_{2}\right\}+2$, we have that

$$
\begin{equation*}
\frac{k_{1}!k_{2}!(r-1)!}{\left(k_{1}+k_{2}+1\right)!} S\left(k_{1}+k_{2}+2, r\right)=\sum_{i=1}^{r-1}(i-1)!(r-i-1)!S\left(k_{1}+1, i\right) S\left(k_{2}+1, r-i\right) \tag{12}
\end{equation*}
$$

The paper [1] also contains a generalization of this theorem to $s \geq 2$ factors involving Stirling numbers on the right hand side in a summation with $s-1$ summation indices. Theorem 11 is a special case with $s=2$.

We will use the generalization of (12) to $r \geq 1$, cf. [1, identity (6)]. It includes a correction term involving Bernoulli numbers

$$
\begin{align*}
& \frac{(k-1)!(m-1)!(r-1)!}{(k+m-1)!} S(k+m, r)=\sum_{i=1}^{r-1}(i-1)!(r-i-1)!S(k, i) S(m, r-i) \\
& +(r-1)!\sum_{j=r}^{k+m-1}\left((-1)^{m}\binom{k-1}{j-1}+(-1)^{k}\binom{m-1}{j-1}\right) \frac{B_{k+m-j}}{k+m-j} S(j, r) \tag{13}
\end{align*}
$$

with $B_{n}$ being the $n$th Bernoulli number.

Now we present an alternative proof of Theorem 1.

Proof of Theorem 1. We prove by induction on $n$. The base case with $n=0$ is trivial. We consider the equivalent form $\nu_{2}\left(k!S\left(2^{n}, k\right)\right)=k-1$ of identity (1). Let us assume that $\nu_{2}\left(k!S\left(2^{t}, k\right)\right)=k-1$ for any integers $t$ and $k$ such that $1 \leq t \leq n$ and $1 \leq k \leq 2^{t}$. We prove the statement for $t=n+1$. We write $k$ in its binary representation $k=2^{b_{1}}+2^{b_{2}}+\cdots+2^{b_{d_{2}(k)}}$ with $0 \leq b_{1}<b_{2}<\cdots<b_{d_{2}(k)}$. We have two cases according whether $k \geq 2^{n}+1$ or not.

Case 1. First let us assume that

$$
\begin{equation*}
2^{n}<k \leq 2^{n+1} \tag{14}
\end{equation*}
$$

The assumption yields that $b_{d_{2}(k)}=n$ except for $k=2^{n+1}$.

We use Theorem 11 with $k_{1}=k_{2}=2^{n}-1, r \geq 2^{n}+1$, and switching from the notation $r$ to $k$. After slightly rewriting (12), we obtain

$$
\begin{equation*}
(k-1)!S\left(2^{n+1}, k\right)=\frac{\left(2^{n+1}-1\right)!}{\left(2^{n}-1\right)!^{2}} \sum_{i=1}^{k-1} \frac{1}{i(k-i)} i!S\left(2^{n}, i\right)(k-i)!S\left(2^{n}, k-i\right) \tag{15}
\end{equation*}
$$

With $N=2^{n+1}$, the first factor on the right hand side of (15) is

$$
\frac{(N-1)!}{\left(\frac{N}{2}-1\right)!^{2}}=\binom{N-1}{\frac{N}{2}} \frac{N}{2}
$$

and there is no carry in the addition of $N / 2$ and $N / 2-1$. This yields an overall 2 -adic order of $n$ for the whole expression.

We have two subcases. If $k$ is odd then we note that $i(k-i)$ in the denominator of (15) can decrease the 2-adic order, and the unique largest decrement results from
setting $i$ or $k-i$ to $2^{b_{d_{2}(k)}}$. By the inductive hypothesis, the last four factors at the end of (15) contribute $(i-1)+(k-i-1)=k-2$ to the 2 -adic order. Hence, we get that

$$
\begin{align*}
\nu_{2}\left(k(k-1)!S\left(2^{n+1}, k\right)\right) & =\nu_{2}(k)+n-b_{d_{2}(k)}+1+(k-2) \\
& =n+k-1-b_{d_{2}(k)}=k-1 . \tag{16}
\end{align*}
$$

If $k$ is even and $k \neq 2^{n+1}$ then the factor $i(k-i)$ in the denominator of 15 ) decreases the 2 -adic order the most if we set $i$ or $k-i$ to $2^{b_{d_{2}(k)}}$ which yields that the other factor is an odd multiple of $2^{\nu_{2}(k)}$. No other pair $(i, k-i)$ can reach this decrement. If $i=k / 2$ then the corresponding term occurs only once, and the decrement is $2\left(\nu_{2}(k)-1\right) \leq b_{d_{2}(k)}+\nu_{2}(k)-2$. Thus, the right hand side of 16$)$ changes, and we obtain

$$
\begin{align*}
\nu_{2}\left(k!S\left(2^{n+1}, k\right)\right) & =\nu_{2}(k)+n-\left(b_{d_{2}(k)}+\nu_{2}(k)\right)+1+(k-2) \\
& =n+k-1-b_{d_{2}(k)}=k-1 \tag{17}
\end{align*}
$$

For $k=2^{n+1}$, since the factor $i(k-i)$ decreases the 2 -adic order the most if we set both $i$ and $k-i$ to $2^{b_{d_{2}(k)}-1}=2^{n}$, we get

$$
\begin{aligned}
\nu_{2}\left(k!S\left(2^{n+1}, k\right)\right) & =\nu_{2}(k)+n-\left(b_{d_{2}(k)}-1+\nu_{2}(k)-1\right)+(k-2) \\
& =n+k-b_{d_{2}(k)}=k-1 .
\end{aligned}
$$

Case 2. Now we assume that $k \leq 2^{n}$ and have two subcases. First we discuss the case with $k<2^{n}$ provided that $k$ is not a power of two then we consider the case in which $k=2^{m}, m \leq n$.

Since now $k \leq 2^{n}$, we need the correction term in (13) which leads to the revised version of (15)

$$
\begin{align*}
k(k-1)!S\left(2^{n+1}, k\right) & =k \frac{\left(2^{n+1}-1\right)!}{\left(2^{n}-1\right)!^{2}} \sum_{i=1}^{k-1} \frac{1}{i(k-i)} i!S\left(2^{n}, i\right)(k-i)!S\left(2^{n}, k-i\right) \\
& +k(k-1)!\frac{\left(2^{n+1}-1\right)!}{\left(2^{n}-1\right)!^{2}} \sum_{j=k}^{2^{n}} 2\binom{2^{n}-1}{j-1} \frac{B_{2^{n+1}-j}}{2^{n+1}-j} S(j, k) \tag{18}
\end{align*}
$$

by setting $k$ and $m$ to $2^{n}$ and switching from $r$ to $k$ in (13). We proceed similarly to (16) and (17), but this time the correction term in (18) will determine the exact 2-adic order. Clearly, the factor $\binom{2^{n}-1}{j-1}$ in the correction term is odd for any $j, k \leq j \leq 2^{n}$, by Theorem 3 .

If $k<2^{n}$ then $b_{d_{2}(k)} \leq n-1$. If $k$ is not a power of two then the right hand sides of (16) and (17) become $n+k-1-b_{d_{2}(k)} \geq k$. Therefore, the first term on the right hand side of (18) contributes an integer multiple of $2^{k}$ to (18). On the other hand, the correction term of (18) will guarantee that $\nu_{2}\left(k!S\left(2^{n+1}, k\right)\right)$ stays at $k-1$. Indeed, the 2 -adic order of the $j$ th term of the correcting sum is at least $\left(k-d_{2}(k)\right)+n+\left(1+\nu_{2}\left(B_{2^{n+1}-j}\right)-\nu_{2}(j)\right)+\left(d_{2}(k)-d_{2}(j)\right) \geq n+(k-1)+(1-$ $\left.\nu_{2}(j)-d_{2}(j)\right)=n+(k-1)-d_{2}(j-1)$ by Theorem 4 and the fact that $\nu_{2}\left(B_{n}\right) \geq-1$. For the smallest possible value we have that

$$
\begin{equation*}
\min _{k \leq j \leq 2^{n}} n+(k-1)-d_{2}(j-1)=k-1 \tag{19}
\end{equation*}
$$

taken uniquely at $j=2^{n}$. In this case the two inequalities above become equalities since $\nu_{2}\left(S\left(2^{n}, k\right)\right)=d_{2}(k)-1$ and $\nu_{2}\left(B_{2^{n}}\right)=-1$. Thus, $\nu_{2}\left(k!S\left(2^{n+1}, k\right)\right)=k-1$.

We are left with the subcases in which $k$ is a power of two. The statement is trivially true for $k=1$. If $k=2^{m}$ with $1 \leq m \leq n$ then $b_{d_{2}(k)}=\nu_{2}(k)=m$ and the right hand side of (17) changes to

$$
\begin{aligned}
& \nu_{2}(k)+n-\left(b_{d_{2}(k)}-1+\nu_{2}(k)-1\right)+(k-2) \\
& =n-m+k \geq k
\end{aligned}
$$

with $\max _{1 \leq i \leq k-1} \nu_{2}(i(k-i))=b_{d_{2}(k)}-1+\nu_{2}(k)-1$ and the unique optimum is taken at $i=k-i=2^{m-1}$. For the correction term, 19) applies again with the same reasoning as above.

We can generalize the above proof to obtain an alternative proof of Theorem 2 although it requires a modified version of inequality (5) of Theorem 4, cf. [7, Remark 2 and Theorem 6] in a somewhat relaxed form:

Theorem 12. For $c \geq 3$ odd, we have

$$
\begin{equation*}
\nu_{2}\left(S\left(c 2^{n}, k\right)\right) \geq d_{2}(k)-1, \quad 1 \leq k \leq 2^{n+1} . \tag{20}
\end{equation*}
$$

Below, for any integer $a \geq 1$, we use the following simple fact that

$$
\begin{equation*}
d_{2}(a-1)=d_{2}(a)-1+\nu_{2}(a) . \tag{21}
\end{equation*}
$$

This implies $d_{2}\left(c 2^{n}-1\right)=d_{2}(c-1)+n$ and thus,

$$
\begin{equation*}
d_{2}\left(c 2^{n+1}-1\right)=d_{2}\left(c 2^{n}-1\right)+1=d_{2}(c)+\nu_{2}(c)+n \tag{22}
\end{equation*}
$$

Proof of Theorem 2. We may assume that $c$ is an odd integer, otherwise we can factor $c$ into a power of two and an odd integer, and $k$ still satisfies $1 \leq k \leq 2^{n}$. We use induction on $c$ and $n$. Assume that $\nu_{2}\left(k!S\left(s 2^{t}, k\right)\right)=k-1,1 \leq k \leq 2^{t}$, for all $1 \leq s \leq c$ and $0 \leq t \leq n$, and prove that it also holds for $t=n+1$. Then we prove that it also holds for the odd number $s=c+2$.

The base case with $c=1$ is covered by the above proof of Theorem 1. Let us assume that $c \geq 3$. Clearly, $d_{2}(c) \geq 2$. The case with $n=0$ is trivial since $\nu_{2}(S(c, 1))=0$. Similarly to (18), we get

$$
\begin{align*}
& k(k-1)!S\left(c 2^{n+1}, k\right)=k \frac{\left(c 2^{n+1}-1\right)!}{\left(c 2^{n}-1\right)!^{2}} \sum_{i=1}^{k-1} \frac{1}{i(k-i)} i!S\left(c 2^{n}, i\right)(k-i)!S\left(c 2^{n}, k-i\right) \\
& \quad+k(k-1)!\frac{\left(c 2^{n+1}-1\right)!}{\left(c 2^{n}-1\right)!^{2}} \sum_{j=k}^{c 2^{n}} 2\binom{c 2^{n}-1}{j-1} \frac{B_{c 2^{n+1}-j}^{c 2^{n+1}-j} S(j, k)}{} \tag{23}
\end{align*}
$$

by setting $k=m=c 2^{n}$ and switching from $r$ to $k$ in (13). We will see that the correction term in (23) determines the exact 2-adic order. In fact, the first term's 2 -adic order is at least

$$
\begin{aligned}
& \nu_{2}(k)+\left(n-1+d_{2}(c)\right)+k-2 \\
& - \begin{cases}\left\lfloor\log _{2} k\right\rfloor+\nu_{2}(k)-1, & \text { if } k \geq 2 \text { is odd or even but not a power of two } \\
2 \nu_{2}(k)-2, & \text { if } k \geq 2 \text { is a power of two, }\end{cases}
\end{aligned}
$$

by (22) and Theorem 12, thus it is at least $k$. Note that the first term disappears if $k=1$, and the statement $\nu_{2}\left(S\left(c 2^{n+1}, 1\right)\right)=0$ is trivial.

If $j$ is odd then the corresponding Bernoulli number $B_{c 2^{n+1}-j}$ in the correction term (23) is 0 . If $j$ is even then we define $A$ as the 2 -adic order of the $j$ th term, and we have that

$$
\begin{aligned}
A= & \nu_{2}(k!)+\nu_{2}\left(\left(c 2^{n+1}-1\right)!\right)-2 \nu_{2}\left(\left(c 2^{n}-1\right)!\right) \\
& +\left(1+d_{2}(j-1)+d_{2}\left(c 2^{n}-j\right)-d_{2}\left(c 2^{n}-1\right)-1-\nu_{2}\left(c 2^{n+1}-j\right)\right)+\nu_{2}(S(j, k)) \\
& =\left(k-d_{2}(k)\right)+c 2^{n+1}-1-d_{2}\left(c 2^{n+1}-1\right)-2\left(c 2^{n}-1-d_{2}\left(c 2^{n}-1\right)\right) \\
& +\left(d_{2}(j-1)+d_{2}\left(c 2^{n}-j\right)-d_{2}\left(c 2^{n}-1\right)-\nu_{2}\left(c 2^{n+1}-j\right)\right)+\nu_{2}(S(j, k)) \\
& =k+d_{2}(j-1)+d_{2}\left(c 2^{n}-j\right)-\nu_{2}\left(c 2^{n+1}-j\right)+\nu_{2}(S(j, k))-d_{2}(k) \\
& =k-1+\nu_{2}(j)+d_{2}\left(c 2^{n}-j\right)-\nu_{2}\left(c 2^{n+1}-j\right)+\left(\nu_{2}(S(j, k))-d_{2}(k)+d_{2}(j)\right)
\end{aligned}
$$

by $\nu_{2}\left(B_{c 2^{n+1}-j}\right)=-1,21$, and 22 .

Now we prove that the last quantity is at least $k-1$, and the unique value of $j$ that achieves this lower bound is $j=c \bmod 22^{\left\lfloor\log _{2} c\right\rfloor}$, i.e., when we remove the most
significant binary digit of $c$. We set $j=c^{\prime} 2^{n+q}$ with $c^{\prime}$ odd and $k \leq j \leq c 2^{n}$ and identify four cases according to the value of $q$.

If $-n \leq q<0$ then

$$
A \geq k-1+n+q+d_{2}\left(c 2^{-q}-c^{\prime}\right)-(n+q) \geq k
$$

by (5) and since $c^{\prime} \neq c 2^{-q}$, i.e., $j \neq c 2^{n}$.

If $q=0$, i.e., $j=c^{\prime} 2^{n}$, then

$$
\begin{aligned}
A & \geq k-1+n+d_{2}\left(c-c^{\prime}\right)-n+\left(d_{2}(k)-1-d_{2}(k)+d_{2}\left(c^{\prime}\right)\right) \\
& \geq k-1+d_{2}(c)-1 \geq k
\end{aligned}
$$

by Theorem 12 .

If $q=1$ then $2 c^{\prime}<c$ and

$$
\begin{aligned}
A & =k-1+n+1+d_{2}\left(c-2 c^{\prime}\right)-\nu_{2}\left(c-c^{\prime}\right)-(n+1)+\left(-1+d_{2}\left(c^{\prime}\right)\right) \\
& =k-1+d_{2}(c)-1+\nu_{2}\left(\binom{c}{c^{\prime}}\right)-\nu_{2}\left(c-c^{\prime}\right) \geq k-1
\end{aligned}
$$

by the induction hypothesis as $c^{\prime}<c$ and $1 \leq k \leq 2^{n+1}$ imply that $\nu_{2}\left(S\left(c^{\prime} 2^{n+1}, k\right)\right)=$ $d_{2}(k)-1$. It is easy to prove, e.g., by induction on the number of blocks of zeros in the binary representation of $c$, that $A$ can reach the lower bound $k-1$ exactly if $c^{\prime}$ is derived from $c$ by removing its most significant binary digit. By the way, if $c^{\prime \prime}=c 2^{\left.\log _{2} c\right\rfloor-i}$ with $0 \leq i \leq\left\lfloor\log _{2} c\right\rfloor-1$, then $d_{2}(c)-1+\nu_{2}\left(\binom{c}{2 c^{\prime \prime}}\right)-\nu_{2}\left(c-c^{\prime \prime}\right)$ is equal to the number of ones in $c 2^{\left\lfloor\log _{2} c\right\rfloor}-c$ ".

If $q \geq 2$ then by (5) we get that

$$
A \geq k-1+n+q+d_{2}\left(c-c^{\prime} 2^{q}\right)-(n+1) \geq k-1+q-1 \geq k .
$$

The proof of $\nu_{2}\left(k!S\left(c 2^{n+1}, k\right)\right)=k-1$ for $1 \leq k \leq 2^{n+1}$ and $n \geq 0$ is complete for $c$, and now we can proceed with the next odd $c$.

## Acknowledgments

I would like to thank Gregory Tollisen for helpful discussions and comments.

## References

[1] T. Agoh, T. and K. Dilcher, Generalized convolution identities for Stirling numbers of the second kind, Integers. Electronic Journal of Combinatorial Number Theory 8:A25, 7 pp. (electronic), 2008.
[2] O-Y. Chan and D. Manna, Divisibility properties of Stirling numbers of the second kind, to appear in Proceedings of the Conference on Experimental Mathematics, T. Amderberhan, L. A. Medina, and V. Moll, eds., Experiment. Math., 15 pp., 2009. Downloadable from: http://www. oyeat.com/papers/stirling_final.pdf.
[3] S. De Wannemacker, On 2-adic orders of Stirling numbers of the second kind, Integers. Electronic Journal of Combinatorial Number Theory 5(1):A21, 7 pp. (electronic), 2005.
[4] Y. H. H., Kwong, Minimum periods of $S(n, k)$ modulo M, Fibonacci Quart. 27(3):217-221, 1989.
[5] T. Lengyel, On the divisibility by 2 of the Stirling numbers of the second kind, Fibonacci Quart. 32(3):194-201, 1994.
[6] T. Lengyel, On some properties of the series $\sum_{k=0}^{\infty} k^{n} x^{k}$ and the Stirling numbers of the second kind, Discrete Mathematics 150(1-3): 281-292, 1996.
[7] T. Lengyel, On the 2-adic order of Stirling numbers of the second kind and their differences, 21st International Conference on Power Series and Algebraic Combinatorics (FPSAC 2009), Hagenberg, Austria, Discrete Math. Theor. Comput. Sci. Proceedings AK, 561-572, 2009. Downloadable from: http:// www.dmtcs.org/dmtcs-ojs/index.php/proceedings/article/view/dmAK0147 /2769
[8] J. Sándor and B. Crstici, Handbook of Number Theory II, Kluwer, 2004.

